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21. [Each of the Four Musketeers made a statement about the four of them, as follows.
d'Artagnan: “Exactly one is lying.”
Athos: “Exactly two of us are lying.”
Porthos: “An odd number of us is lying.”
Aramis: “An even number of us is lying."”
How many of them were lying (with the others telling the truth)?
A one B one ortwo C twoorthree D three E four
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21. (C Atleast one of d'Artagnan and Athos is lying. One of Porthos or Aramis is telling the
truth and the other is lying. So the number of liars is either two (d'Artagnan and Porthos)
or three (all except Porthos).



